
CHEMISTRY

BOOKS - R G PUBLICATION

THE p-BLOCK ELEMENTS

Exercise

1. Write the chemical equations for the

following processes: Chlorine is passed

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_WfniW2VR5BmE


through hot and concentrated solution of

sodium hydroxide.

Watch Video Solution

2. Write the chemical equations for the

following processes: orthophosphorous acid is

heated.

Watch Video Solution

3. Mention two uses of .H2SO4

https://dl.doubtnut.com/l/_WfniW2VR5BmE
https://dl.doubtnut.com/l/_YjsrXfKeaxPs
https://dl.doubtnut.com/l/_zv70fhoPrlXB


Watch Video Solution

4. Answer the following: Why  is a liquid

whereas  is gas at room temperature?

Watch Video Solution

H2O

H2S

5. Arrange the hydrides of group 16 in

increasing order of acid strength

Watch Video Solution

https://dl.doubtnut.com/l/_zv70fhoPrlXB
https://dl.doubtnut.com/l/_upd52uW623TK
https://dl.doubtnut.com/l/_tIaEnGgMat6Q
https://dl.doubtnut.com/l/_5TMkd1n2feQ2


6. Complete the following equation:

.

Watch Video Solution

XeF6 + H2O →

7. Give reasons: The bond dissociation energy

of  is less than that of .

Watch Video Solution

F2 Cl2

https://dl.doubtnut.com/l/_5TMkd1n2feQ2
https://dl.doubtnut.com/l/_WGrBjvTFjdzl


8. Given reasons: concentrated nitric acid

renders aluminium passive.

Watch Video Solution

9. Given reasons: draw the structure of

.

Watch Video Solution

XeOF4

https://dl.doubtnut.com/l/_unjtr9X1Nrqw
https://dl.doubtnut.com/l/_RWFhbNYH5VbY


10. Write the disproportionation reaction of

.

Watch Video Solution

H3PO3

11. Answer the following: Ozone acts as a

powerful oxidizing agent. Give reason.

Watch Video Solution

https://dl.doubtnut.com/l/_wbW8ZsPaJtOc
https://dl.doubtnut.com/l/_UtxrDJdXbjeW


12. Answer the following: Complete the

following reaction: ?

Watch Video Solution

HNO3

P4O10

−−→
Δ

13. Answer the following: Which reaction was

used by Bartlett to prepare the first noble gas

compound?

Watch Video Solution

https://dl.doubtnut.com/l/_50wYl3Wav7bj
https://dl.doubtnut.com/l/_ownlmEitE1G1


14. Answer the following:  is known but 

 is not known. Give reason.

Watch Video Solution

KHF2

KHCl2

15. Answer the following: Bismuth is a strong

oxidizing agent in the pentavalent (O.N. = 5).

Give reason.

Watch Video Solution

https://dl.doubtnut.com/l/_vViBVXhXKrSl
https://dl.doubtnut.com/l/_fG37PzkOEIWD


16. Arrange the following in increasing order if

acid strength: HCl, HI, HBr, HF.

Watch Video Solution

17. Name the noble gas that forms majority of

the known noble gas compounds.

Watch Video Solution

18. What is the basicity of ?H3PO4

https://dl.doubtnut.com/l/_AzoZVqFzjzk2
https://dl.doubtnut.com/l/_dgrRGbXfZyrA
https://dl.doubtnut.com/l/_IygmZaWHKWL8


Watch Video Solution

19. Complete the following reactions:

Watch Video Solution

NaOH(hot, conc) + CI2(g) →

20. Complete the following reactions:

Watch Video Solution

P4 + SO2CI2 →

https://dl.doubtnut.com/l/_IygmZaWHKWL8
https://dl.doubtnut.com/l/_LiXPdd8OpjZq
https://dl.doubtnut.com/l/_bv93EqwQEtpF
https://dl.doubtnut.com/l/_rN6GlBBCq6NS


21. Complete the following reactions:

Watch Video Solution

NH3(excess) + CI2 →

22. Why is  less reactive at room

temperature?

Watch Video Solution

N2

23. Give the structural formula of H3PO2

https://dl.doubtnut.com/l/_rN6GlBBCq6NS
https://dl.doubtnut.com/l/_JAmZJpvEe5kM
https://dl.doubtnut.com/l/_jOk4DjKATFLN


Watch Video Solution

24. How do you account for the reducing

behaviour of  on the basis for its

structure?

Watch Video Solution

H3PO2

25. Explain why  dimerises.

Watch Video Solution

NO2

https://dl.doubtnut.com/l/_jOk4DjKATFLN
https://dl.doubtnut.com/l/_WBSRKf4ZXssu
https://dl.doubtnut.com/l/_zD9KiS3oxoVL
https://dl.doubtnut.com/l/_GJT56D1LFb34


26. Answer the following: Why  is a liquid

whereas  is gas at room temperature?

Watch Video Solution

H2O

H2S

27. What happens when potassium chlorate is

heated with manganese dioxide?

Watch Video Solution

28. What is Oleum?

Watch Video Solution

https://dl.doubtnut.com/l/_GJT56D1LFb34
https://dl.doubtnut.com/l/_2kVNMfyQDZQD
https://dl.doubtnut.com/l/_el0hwsA0rTS6


29. Fluorine exhibits only+1 oxidation state,

whereas other halogens also exhibit +1, +3, +5

and +7 oxidation states. Explain.

Watch Video Solution

30. Why the noble gases have very low boiling

points?

Watch Video Solution

https://dl.doubtnut.com/l/_el0hwsA0rTS6
https://dl.doubtnut.com/l/_ArpVuZaHGlwv
https://dl.doubtnut.com/l/_C0nUSiuHSlIh
https://dl.doubtnut.com/l/_AWov8IIOdp7I


31. Explain the bleaching action of .

Watch Video Solution

Cl2

32. Complete the following chemical reaction

equations. , 

 .
  acts

only as reducing agent while  acts as an

oxidising as well as reducing agent. Why?

Watch Video Solution

P4 + NaOH + H2O →

I − ( aq ) + H2O(l) + O3(g) → H2S

SO2

https://dl.doubtnut.com/l/_AWov8IIOdp7I
https://dl.doubtnut.com/l/_fmzTRtVIJ68b
https://dl.doubtnut.com/l/_CUNawTC76cLt


33. Complete the following chemical reaction

equations: ?

Watch Video Solution

F2(g) + H2O(l) →

34. Complete the following chemical reaction

equations: ?

Watch Video Solution

Ca3P2(s) + H2O(l) →

35. Complete the following chemical reaction

equations: ?P4 + NaOH + H2O →

https://dl.doubtnut.com/l/_CUNawTC76cLt
https://dl.doubtnut.com/l/_YaRoUSThEg5e
https://dl.doubtnut.com/l/_Ni6Ij3eXtsKp


Watch Video Solution

36. Draw the structure of the following

molecules and mention their shapes: 

Sulfuric Acid

Watch Video Solution

37. Copper does not dissolve in HCI while it

does dissolve in 

Watch Video Solution

HNO3

https://dl.doubtnut.com/l/_Ni6Ij3eXtsKp
https://dl.doubtnut.com/l/_1ZXnXaAHYcPp
https://dl.doubtnut.com/l/_KiIOY9cQw1UH


38. Copper does not dissolve in HCI while it

does dissolve in 

Watch Video Solution

HNO3

39. Define inter halogen compounds?

Watch Video Solution

https://dl.doubtnut.com/l/_KiIOY9cQw1UH
https://dl.doubtnut.com/l/_eT3LOkjvDL9y
https://dl.doubtnut.com/l/_GCtihFQG038m


40. Write the balanced chemical equation for

the reaction between sulphur di oxide and

chlo-rine in presence of charcoal as catalyst.

Watch Video Solution

41. Complete the followign chemcial

equations: 

Watch Video Solution

2XeF2 + 2H2O →

https://dl.doubtnut.com/l/_qBJdcekoglvB
https://dl.doubtnut.com/l/_ZqMjLM81Vm5U


42. Complete the followign chemcial

equations: 

Watch Video Solution

Cu + 4HNO3 →

43. Complete the followign chemcial

equations: 

Watch Video Solution

Ca(OH)2 + CI2 →

https://dl.doubtnut.com/l/_CcXmyzM5gqcd
https://dl.doubtnut.com/l/_Qgds1vOa31yP


44. Nitrogen exists as diatomic molecule and

phosphorous as .

Watch Video Solution

P4

45. Name a aerosol that depletes ozone.

Watch Video Solution

46. Account for the following: Halogen are

coloured.

https://dl.doubtnut.com/l/_UPrhmTLQEkqq
https://dl.doubtnut.com/l/_JHucX0DbP1Pd
https://dl.doubtnut.com/l/_xPmhaBZwRZRn


Watch Video Solution

47. Why the noble gases have very low boiling

points?

Watch Video Solution

48. Complete the folloiwng chemcial equation:

?

Watch Video Solution

KCIO3

Δ
−−−−−→

MnO2

https://dl.doubtnut.com/l/_xPmhaBZwRZRn
https://dl.doubtnut.com/l/_bvrs622XyNhm
https://dl.doubtnut.com/l/_XX4vcma3oRX5
https://dl.doubtnut.com/l/_FSDaAAlj8qEW


49. Complete the folloiwng chemcial equation:

?

Watch Video Solution

AI2O3(s) + 6HCI(aq) + 9H2O(I) →

50. Mention one use each of Argon and Helium

gases.

Watch Video Solution

https://dl.doubtnut.com/l/_FSDaAAlj8qEW
https://dl.doubtnut.com/l/_KBH9OAT1AcaM


51. Give reasons for the following: Nitrogen

exhibits +5 oxidation state. But it does not

form pentahalide.

Watch Video Solution

52. Give reasons for the following: Sulphur

vapour is paramagnetic.

Watch Video Solution

https://dl.doubtnut.com/l/_ymrRLgLlTQEK
https://dl.doubtnut.com/l/_9VOftdq6hceU


53. Give reasons for the following: Moist

chlorine is powerful bleaching agent.

Watch Video Solution

54. Complete the following reactions:

?

Watch Video Solution

P4 + 3NaOH + 3H2O →

https://dl.doubtnut.com/l/_9p5PDyndQg3n
https://dl.doubtnut.com/l/_KKlKJg3kQuw3


55. Complete the following reactions:

?

Watch Video Solution

2F2(g) + 2H2O(l) →

56. Describe the manufacture of ammonia by

Haber's process with favourable conditions.

Watch Video Solution

https://dl.doubtnut.com/l/_rSqUyErMT9LP
https://dl.doubtnut.com/l/_h1VFGTRekwPe


57. Draw the structure of the following

molecules and mention their shapes: 

Watch Video Solution

XeF4

58. Draw the structures of the following

molecules: 

Watch Video Solution

H3PO3

https://dl.doubtnut.com/l/_KMFM4fnz2Pwj
https://dl.doubtnut.com/l/_0DSQPSU2al12


59. Name the catalyst used for conversion of

 to  in the contact process. How is

oleum formed from  in this process?

Watch Video Solution

SO2 SO3

SO3

60. How do you account for the reducing

behaviour of  on the basis for its

structure?

Watch Video Solution

H3PO2

https://dl.doubtnut.com/l/_XLmhhC3OIR2y
https://dl.doubtnut.com/l/_PbpLDiONSGXI
https://dl.doubtnut.com/l/_dYWDfJDPYdcx


61. When HCI reacts with finely powdered iron,

it forms ferrous chloride and not ferric

chloride. Explain, Why?

Watch Video Solution

62. What are interhalogen compounds? Give a

method of preparation of any interhalogen

compound.

Watch Video Solution

https://dl.doubtnut.com/l/_dYWDfJDPYdcx
https://dl.doubtnut.com/l/_RDPdJOVwu4Pk
https://dl.doubtnut.com/l/_Jj12C3vhxAaq


63. Give reasons for the following: Bleaching

by chlorine is permanent, while that by

sulphur dioxide is temporary.

Watch Video Solution

64. Give reasons for the following:  acts

as a Lewis base.

Watch Video Solution

NH3

https://dl.doubtnut.com/l/_Jj12C3vhxAaq
https://dl.doubtnut.com/l/_yuqnN5J4VSxx


65. Give reasons for the following: 

dimerises.

Watch Video Solution

NO2

66. Give reasons for the following: In the

reaction between HCI and powdered iron,

ferric chloride is not formed.

Watch Video Solution

https://dl.doubtnut.com/l/_KHXXbXluVqdp
https://dl.doubtnut.com/l/_TFxZirFbJq2F


67. Give a laboratory method of preparation of

dinitrogen.

Watch Video Solution

68. Complete the following chemcial

equations: 

Watch Video Solution

Mg + N2

heat
−−→

https://dl.doubtnut.com/l/_iSsrgrAsLGFQ
https://dl.doubtnut.com/l/_FAb2XbIC9yBG


69. Complete the following chemcial

equations:  …+…

Watch Video Solution

Ba(N3)2 →

70. Complete the following chemcial

equations:  ……..+……….

Watch Video Solution

(NH4)2Cr2O7

heat
−−→

H2O

https://dl.doubtnut.com/l/_hiCFbKFah4W7
https://dl.doubtnut.com/l/_hjePf0OMQjeb


71. Why  behaves as oxidising as well as

reducing agent?

Watch Video Solution

HNO2

72. Give chemcial equations for the following

processes: Decomposition of ozone at 523 K.

Watch Video Solution

https://dl.doubtnut.com/l/_Q3wRhpW7dmYJ
https://dl.doubtnut.com/l/_sTCMP8iNNuXx


73. Give chemcial equations for the following

processes: Ozone oxidises lead sulphide to

lead sulphate.

Watch Video Solution

74. Give chemcial equations for the following

processes: Ozone reacts with aqueous

solution of potassium iodide to liberate

iodine.

Watch Video Solution

https://dl.doubtnut.com/l/_5AAWHV4CCgRX
https://dl.doubtnut.com/l/_DIX63sS66fNg


75. The formula of Inidan Salt petre is

A. 

B. NaCI

C. 

D. KCI

Answer:

Watch Video Solution

NaNO3

KNO3

https://dl.doubtnut.com/l/_DIX63sS66fNg
https://dl.doubtnut.com/l/_MvpmTAXpAY1z


76. The most stable hydride is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

NH3

PH3

AsH3

SbH3

https://dl.doubtnut.com/l/_2ciXuv5E7Rn7


77. Maximum covalency of nitrogen is.

A. 3

B. 4

C. 5

D. 7

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_RdUkPoBbP03y


78. On heating ammonium dichromate, the gas

evolved is

A. 

B. 

C. NO

D. 

Answer:

Watch Video Solution

O2

NH3

N2

https://dl.doubtnut.com/l/_q8UiwHh80Okf
https://dl.doubtnut.com/l/_w3GhpfA37EWK


79. Nitrogen is relatively inactive element be-

cause.

A. Its atom has a stable electronic configu-

ration

B. It has low atomic radius

C. Its electronegativity is fairly high

D. Dissociation energy of its molecule is

fairly high

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_w3GhpfA37EWK


80. The laughing gas

A. Nitrous oxide

B. Nitric oxide

C. Nitrogen trioxide

D. Nitrogen pantoxide

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_w3GhpfA37EWK
https://dl.doubtnut.com/l/_lmp1gob2V3r5
https://dl.doubtnut.com/l/_8qPM3xnvnsdD


81. Which is the correct order of basicity

A. 

B. 

C. 

D. 

PH3 > SbH3 > NH3 > BiH3 > ASH3

PH3 > NH3 > ASH3 > SbH3 > BiH3

NH3 > PH3 > ASH3 > SbH3 > BiH3

NH3 > PH3 > SbH3 > ASH3 > BiH3

https://dl.doubtnut.com/l/_8qPM3xnvnsdD


Answer:

Watch Video Solution

82. By which of the following  gas cannot

be obtained on heating?

A. 

B. 

C. 

D. 

NO2

KNO3

Pb(NO3)2

Cu(NO3)2

AgNO3

https://dl.doubtnut.com/l/_8qPM3xnvnsdD
https://dl.doubtnut.com/l/_KDRdSk8UhjOp


Answer:

Watch Video Solution

83. One of the catalysts used in the production

of  is

A. 

B. 

C. Nitrogen trioxide

D. 

NH3

K2O

V2O5

MnO2

https://dl.doubtnut.com/l/_KDRdSk8UhjOp
https://dl.doubtnut.com/l/_bNSfXqnkFred


Answer:

Watch Video Solution

84. The formula of hyponitrous acid is

A. 

B. 

C. 

D. 

Answer:

H2NO3

H2N2O2

HN2O2

HNO2

https://dl.doubtnut.com/l/_bNSfXqnkFred
https://dl.doubtnut.com/l/_HYjvDxF6TV24


Watch Video Solution

85. The starting material for the preparation

of  acid.

A. 

B. 

C. air

D. 

Answer:

HNO3

NH3

NO2

NaNO3

https://dl.doubtnut.com/l/_HYjvDxF6TV24
https://dl.doubtnut.com/l/_5LQmGusUPNbK


Watch Video Solution

86. Brown ring test is used to detect the acid

radical.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

NO −
2

CI −

NO −
3

SO
2 −
4

https://dl.doubtnut.com/l/_5LQmGusUPNbK
https://dl.doubtnut.com/l/_9sYmfY1GBlX4


87. The polymeric phosphorus is

A. White phosphorus

B. Red phosphours

C. Black Phosphorus

D. None of the above

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_9sYmfY1GBlX4
https://dl.doubtnut.com/l/_uQUfEJNjM0qc
https://dl.doubtnut.com/l/_OPtvVsGA1WMT


88. One mole of Calcium phosphide on

reaction with excess of water gives

A. One mole of 

B. Two moles of 

C. Two moles of 

D. One mole of 

Answer:

Watch Video Solution

PH3

H3PO4

PH3

P2O5

https://dl.doubtnut.com/l/_OPtvVsGA1WMT


89. When phoshporus acid is heated with bro-

mine in a sealed tube it produces

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

H3PO3

H4P2O7

H4P2O6

(HPO3)n

https://dl.doubtnut.com/l/_4z3CpKQRoxLr
https://dl.doubtnut.com/l/_7axBaycfiLD1


90. The formula of ozone is , it is

A. An allotrope of oxygen

B. Compound of oxygen

C. Isotope of oxygen

D. None of the above

Answer:

Watch Video Solution

O3

91. The most stable hydride is

https://dl.doubtnut.com/l/_7axBaycfiLD1
https://dl.doubtnut.com/l/_JptSW2N66eaJ


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

SCI6

SBr2

SF6

SCI4

92. Of the following which one is a true perox-

ide?

https://dl.doubtnut.com/l/_JptSW2N66eaJ
https://dl.doubtnut.com/l/_5Z5IPPLaKhGx


A. PbO

B. 

C. 

D. CaO

Answer:

Watch Video Solution

Na2O

BaO2

93. Ozone is prepared by passing silent electric

discharge through oxygen. In this reaction.

https://dl.doubtnut.com/l/_5Z5IPPLaKhGx
https://dl.doubtnut.com/l/_69zjLPJqNnVi


A. Energy is given out

B. Energy is absorbed

C. Oxygen is dissociated into atoms

D. Oxygen is loaded with energy

Answer:

Watch Video Solution

94. Group 16 elements form hydrides of the

type . Their correct stability order is (M-

O, S, Se, Te).

MH2

https://dl.doubtnut.com/l/_69zjLPJqNnVi
https://dl.doubtnut.com/l/_isR0ElbGAqES


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

H2O > H2S > H2Se > H2T c

H2T e > H2Se > H2S > H2O

H2S < H2O > H2T e > H2Sc

H2S > H2O > H2T c > H2Sc

95. There is O-O bond in.

A. S2O2 −
3

https://dl.doubtnut.com/l/_isR0ElbGAqES
https://dl.doubtnut.com/l/_kjHoQn7F19iP


B. 

C. 

D. 

Answer:

Watch Video Solution

SO
2 −
4

S2O
2 −
7

SO2 −
5

96. An anti-chlor agent is

A. 

B. 

O3

CI2

https://dl.doubtnut.com/l/_kjHoQn7F19iP
https://dl.doubtnut.com/l/_J8Tc06TdfgS9


C. HOCI

D. 

Answer:

Watch Video Solution

SO2

97. The final product obtained during the

manu-facture of  by contact process is.

A. 

B. 

H2SO4

H2SO4

H2SO4

https://dl.doubtnut.com/l/_J8Tc06TdfgS9
https://dl.doubtnut.com/l/_PiWSoYGYvTcH


C. 

D. 

Answer:

Watch Video Solution

H2SO3

H2S2O7

98. Condition for maximum yield of  gas

from oxidation of  gas is.

A. High temperature and high pressure

B. Low temperature and high pressure

SO2

SO3

https://dl.doubtnut.com/l/_PiWSoYGYvTcH
https://dl.doubtnut.com/l/_rulzOrAVPr2z


C. Optimum pressure and temperature

D. Pressur eof about 2 bar & temperature

Answer:

Watch Video Solution

99. Oxidising action increase in the following

order in halogen family

A. CI < Br < I> F

B. CI < I < Br> F

https://dl.doubtnut.com/l/_rulzOrAVPr2z
https://dl.doubtnut.com/l/_y0TBvCR2sK34


C. I < F < Cl < Br

D. I < Br < CI < F

Answer:

Watch Video Solution

100. Which of the following pairs is not correct

A. A halogen which is liquid at room tem-

perature-Bromine

https://dl.doubtnut.com/l/_y0TBvCR2sK34
https://dl.doubtnut.com/l/_p0y9MpxqCw41


B. The most electro negative element-

Fluorine

C. The most reactive halogen-Fluorine

D. The strongest oxidizing halogen-Io-dine

Answer:

Watch Video Solution

101. Fluorine reacts with water to give

A. HF and O_2`

https://dl.doubtnut.com/l/_p0y9MpxqCw41
https://dl.doubtnut.com/l/_DZlQvcy6bVBR


B. HF and 

C. HF & 

D. HF,  & 

Answer:

Watch Video Solution

OF2

O3

O2 O3

102. The highest boiling point liquid is

A. HF

B. HCI

https://dl.doubtnut.com/l/_DZlQvcy6bVBR
https://dl.doubtnut.com/l/_49h4aIms8hMQ


C. HBr

D. HI

Answer:

Watch Video Solution

103. Oxide of fluorine is called

A. Fluorine Oxide

B. Oxygen Fluoride

C. Di Fluoro oxygen

https://dl.doubtnut.com/l/_49h4aIms8hMQ
https://dl.doubtnut.com/l/_3tH0ZOSdMK1U


D. None of the above

Answer:

Watch Video Solution

104. Why the stability of higher oxidation state

of the 14th group elements decrease down the

group?

Watch Video Solution

https://dl.doubtnut.com/l/_3tH0ZOSdMK1U
https://dl.doubtnut.com/l/_X2qaUiHle3S1


105.  is the strongest reducing reducing

agent of group 15 elements. Why?

Watch Video Solution

BiH3

106.  has lower boiling point than .

Why?

Watch Video Solution

PH3 NH3

https://dl.doubtnut.com/l/_opCKscUmvGsa
https://dl.doubtnut.com/l/_vyJHPdsA4UFy


107. What happens when Barium azide is

heated?

Watch Video Solution

108. A deep blue colour is formed when

 solu-tion is treated with ammonia

solution. What property of ammonia is

associated with it. Why deep coloured solution

is formed?

Watch Video Solution

CuSO4

https://dl.doubtnut.com/l/_OF3vo4GuUsLk
https://dl.doubtnut.com/l/_xPCDcYpN2g6z


109. Which forms of oxides of nitrogen are

para-magnetic?

Watch Video Solution

110. Aluminium is not dissolved in

concentrated  solution. Why?

Watch Video Solution

HNO3

https://dl.doubtnut.com/l/_xPCDcYpN2g6z
https://dl.doubtnut.com/l/_LOcw0Yd4p8yb
https://dl.doubtnut.com/l/_dPQe0g1hOCqI


111. In the brown ring test (for identification of

). Write the formula of the brown

compound?

Watch Video Solution

NO3

112. Why white phosphorus is less stable than

red phosphorus?

Watch Video Solution

https://dl.doubtnut.com/l/_HEcZGg7emRNr
https://dl.doubtnut.com/l/_Iyq3GOAeh5Rs


113. Name the gas which is used as smoke

screen?

Watch Video Solution

114. Bond angle in  is higher than that is 

.

Watch Video Solution

PH
+

4

PH3

https://dl.doubtnut.com/l/_gSBYCfqsGMNh
https://dl.doubtnut.com/l/_J21Ygm0cEsTE


115. In  the two axial bonds are longer

than equitorial bonds why?

Watch Video Solution

PCl5

116. Write the formula of epson salt.

Watch Video Solution

117. Thermal stability of  is more than that

of . Why?

H2S

H2T e

https://dl.doubtnut.com/l/_LJAiMIJerOAf
https://dl.doubtnut.com/l/_0vNAVTTIxRZF
https://dl.doubtnut.com/l/_yOiXJ846nIeW


Watch Video Solution

118. What is amphoteric oxide? Give one

example.

Watch Video Solution

119. What is the transition temperature of

conver-sion of - sulpher into  sulpher

and vice versa? Write the common formula of

these forms?

Alpha β

https://dl.doubtnut.com/l/_yOiXJ846nIeW
https://dl.doubtnut.com/l/_QPfVaUJtIR2K
https://dl.doubtnut.com/l/_2OpSwaz241qQ


Watch Video Solution

120. Which form of sulpher shows

paramagnetic beheavier?

Watch Video Solution

121. Write one chemical test for  gas.

Watch Video Solution

SO2

https://dl.doubtnut.com/l/_2OpSwaz241qQ
https://dl.doubtnut.com/l/_02Oj2LgocVy6
https://dl.doubtnut.com/l/_RjNYO5FzHbWn


122. Negative electron gain ethalpy of fluorine

atom is less than that of chlorine atom. Why?

Watch Video Solution

123. Write two uses of .

Watch Video Solution

ClO2

124. Explain why HI is the strongest reducing

agent among the halogens?

https://dl.doubtnut.com/l/_JhXtMJi0iZIh
https://dl.doubtnut.com/l/_zdslh1QhvbrB
https://dl.doubtnut.com/l/_TE64jzAaxqpA


Watch Video Solution

125. Explain the bleaching action of .

Watch Video Solution

Cl2

126. What is aqua regia?

Watch Video Solution

https://dl.doubtnut.com/l/_TE64jzAaxqpA
https://dl.doubtnut.com/l/_Cxe88KWRHnC6
https://dl.doubtnut.com/l/_pK2MU8hphE1T


127. Why interhalogens are more reactive than

halogens?

Watch Video Solution

128. Write the formula of the first noble gas

compound.

Watch Video Solution

https://dl.doubtnut.com/l/_5jHkT2S2hLzb
https://dl.doubtnut.com/l/_Vr96KZTxvFEb


129. In the solid phase of phosphorus penta

chlo-ride the structure of cation part is &

anion part is.

Watch Video Solution

130. Why fluorine formes only one oxacid HOF?

Watch Video Solution

131. Write the structure of ICl
−
4

https://dl.doubtnut.com/l/_ZPTkWb0J32XK
https://dl.doubtnut.com/l/_CwQgJF1J47HG
https://dl.doubtnut.com/l/_icKiuCfbVoS1


Watch Video Solution

132. In which one of the two structures 

and  the bond angle has a higher value?

Watch Video Solution

NO +
2

NO −
2

133. Give one chemical reaction to show that

all the bonds in  molecules are not

equivalent?

Watch Video Solution

PCI5

https://dl.doubtnut.com/l/_icKiuCfbVoS1
https://dl.doubtnut.com/l/_4P5rUDbDWF5j
https://dl.doubtnut.com/l/_L6lcKQGGF0ao


134. Ammonia is a good complexing agent.

Why?

Watch Video Solution

135.  is used as a gaseous electrical

isulator, explain.

Watch Video Solution

SF6

https://dl.doubtnut.com/l/_L6lcKQGGF0ao
https://dl.doubtnut.com/l/_nN6rM3r0YPLQ
https://dl.doubtnut.com/l/_b2bVYb2PUGAH


136. Why are elements of 16 group called

Chalcogen?

Watch Video Solution

137. Concentrated nitric acid turns yellow on

exposure to sunlight, why?

Watch Video Solution

138.  exists but  does not why?CIF3 FCI3

https://dl.doubtnut.com/l/_IBaAhFlcxUiV
https://dl.doubtnut.com/l/_C8uEQXV2fqjz
https://dl.doubtnut.com/l/_wZCyaTqgr8Tj


Watch Video Solution

139. Answer the following: why is helium-

oxygen mixture preferred over air for

respiration during deep sea diving?

Watch Video Solution

140. Give one use of 

Watch Video Solution

CIF3

https://dl.doubtnut.com/l/_wZCyaTqgr8Tj
https://dl.doubtnut.com/l/_mZYdxxYj9pVq
https://dl.doubtnut.com/l/_Wzl5oEQxjV5Z
https://dl.doubtnut.com/l/_eg2baw4CjE4Q


141. Why the N-O bond in  is short or

than the N-O bond in ?

Watch Video Solution

NO −
2

NO −
3

142. Both  and  stabilize high oxidation

states but the ability of oxygen to stabilize the

higher oxidation state exceeds that of fluorine

why?

Watch Video Solution

O2 F2

https://dl.doubtnut.com/l/_eg2baw4CjE4Q
https://dl.doubtnut.com/l/_eLdBnkDRG8Lq
https://dl.doubtnut.com/l/_ZRbdUYiEEIXd


143. What will happen when: Water solution of

phosphine is exposed to light?

Watch Video Solution

144. What will happen when: Alumina reacts

with aquous solution of sodium hydroxide?

Watch Video Solution

145. What will happen when: Aque regia reacts

with platinum?

https://dl.doubtnut.com/l/_ZRbdUYiEEIXd
https://dl.doubtnut.com/l/_xHoFhwKkeFIx
https://dl.doubtnut.com/l/_q8j1YVtEUsd2


Watch Video Solution

146. "Though size increases rapidly from N to P

of group 15th elements but from As to Bi there

is small rise in the size of the elements." Com-

ment.

Watch Video Solution

147. Why does  exist but 

does not?

R3P = 0 R3N = 0

https://dl.doubtnut.com/l/_q8j1YVtEUsd2
https://dl.doubtnut.com/l/_bxVyqs9TMsjE
https://dl.doubtnut.com/l/_iK7iz8lMQYUc


Watch Video Solution

148. Disuss the acidic characters of oxides of

ni-togen and phoshorus.

Watch Video Solution

149. How pure  gas is prepared in

laboratory? Write the necessary equation for

the reaction.

Watch Video Solution

N2

https://dl.doubtnut.com/l/_iK7iz8lMQYUc
https://dl.doubtnut.com/l/_5LeN6xWqi13W
https://dl.doubtnut.com/l/_3pFuKJoJh42a


150. Discuss the optimum conditions for the

manu-facture of ammonia.

Watch Video Solution

151. How ammonia helps in the detection of

metal ions is solution?

Watch Video Solution

https://dl.doubtnut.com/l/_QKnNbhc9HkhF
https://dl.doubtnut.com/l/_WIrVCR0IpHTL


152. What will happen when lead nitrate is

strongly heated? Write the necessary reaction.

Watch Video Solution

153. How nitric acid is prepared by Ostwald

method? Write the necessary reactions?

Watch Video Solution

https://dl.doubtnut.com/l/_KDJiRrRpwfTT
https://dl.doubtnut.com/l/_W8a1F85clIuK


154. Write two characteristics each from white

phos-phorus and red phosphorus. How one

form can be converted to another?

Watch Video Solution

155. Write the reaction for the laboratory

prepara-tion of phosphine. How phosphine is

purified?

Watch Video Solution

https://dl.doubtnut.com/l/_zAvUQqa5suUg
https://dl.doubtnut.com/l/_vwarvRiTte3X
https://dl.doubtnut.com/l/_FDAInMvGo2S1


156. What is Holme's signals? Write its use

Watch Video Solution

157. Bond angle in  is higher than that is 

.

Watch Video Solution

PH
+

4

PH3

158. What is the hydridization of phosphorus

atom in ?PCI3

https://dl.doubtnut.com/l/_FDAInMvGo2S1
https://dl.doubtnut.com/l/_UhFZBU4EJQPC
https://dl.doubtnut.com/l/_Yb2a3UDBey8O


Watch Video Solution

159. Give the disproporationation reaction of

.

Watch Video Solution

H3PO3

160. Discuss the stability of various oxidation

states of element of chalcogen family.

Watch Video Solution

https://dl.doubtnut.com/l/_Yb2a3UDBey8O
https://dl.doubtnut.com/l/_RYaiZUew9EMf
https://dl.doubtnut.com/l/_VMuepRi4klfd
https://dl.doubtnut.com/l/_l0hAljAuS8hq


161. How oxides are classified? Give one

example of each oxide.

Watch Video Solution

162. High concentration of ozone is highly

explo-sive. Why?

Watch Video Solution

163. Knowing the electron gain enthalphy

values for  and  as -141O → O − O → O2 −

https://dl.doubtnut.com/l/_l0hAljAuS8hq
https://dl.doubtnut.com/l/_jwRSBHBm1woy
https://dl.doubtnut.com/l/_K09SgmkzVXJc


and 702 kJ  respectively, how can you

account for the formation of a large number

of oxides hav-ing  species and not ?

Watch Video Solution

mol−

O2 − O −

164. Discuss the role of chemical factors which

deptets ozone layer.

Watch Video Solution

https://dl.doubtnut.com/l/_K09SgmkzVXJc
https://dl.doubtnut.com/l/_D9xvWOEV6PY3


165. Why does  act as a powerful oxiding

agent? How is  estimated quantitatively?

Watch Video Solution

O3

O3

166. Write two differences between rhombic

sulpher and monoclinic sulpher.

Watch Video Solution

https://dl.doubtnut.com/l/_lmqKiklHcebB
https://dl.doubtnut.com/l/_fohc9yRwF0ya


167. Comment on the nature of S-O bonds

formed in  molecule. Are these bond

lengths equal in the molecule?

Watch Video Solution

SO2

168. How is  an air pollutant?

Watch Video Solution

SO2

https://dl.doubtnut.com/l/_gPKqM6lXqsKj
https://dl.doubtnut.com/l/_H9r6nNPxB7Lj


169. Describe the conditions of maximum yield

of  by contact process in the manufacture

of .

Watch Video Solution

SO3

H2SO4

170. Write the formula of carnallite and

fluoroaptite.

Watch Video Solution

https://dl.doubtnut.com/l/_umHcWBSD5SFI
https://dl.doubtnut.com/l/_S9N1v4jgAHR1


171. Account for the following: Halogen are

coloured.

Watch Video Solution

172. Why fluorine shows only one oxidation

state of (-1)?

Watch Video Solution

https://dl.doubtnut.com/l/_fKnfGnYZqulO
https://dl.doubtnut.com/l/_B7a63EAZdx5Z


173. Discuss the various factors which affect

the decreasing oxidising ability of the

halogens in aquous soln.

Watch Video Solution

174. How  is prepared without heating?

How it is prepared electrolytically.

Watch Video Solution

Cl2

https://dl.doubtnut.com/l/_xApcGQ6UMTY1
https://dl.doubtnut.com/l/_o1aKFlJfpLHW


175. How gold ornaments are cleaned by aqua

re-gia? Write the reactions involved in it.

Watch Video Solution

176. Draw the structures of chloric acid & per

chloric acid. Which is more acidic and why?

Watch Video Solution

https://dl.doubtnut.com/l/_6dstTHubPVOY
https://dl.doubtnut.com/l/_0z6flZltPb0t


177. Why the noble gases have very low boiling

points?

Watch Video Solution

178. Why xenon forms compound?

Watch Video Solution

179. Arrange the following in the order of

property indicated:

https://dl.doubtnut.com/l/_89XaJNJmEApF
https://dl.doubtnut.com/l/_er3OaMkYCVJ5
https://dl.doubtnut.com/l/_TClrMnrjrSWA


Watch Video Solution

NH3, PH3, AsH3, SbH3, BiH3

180. What is the hybridization of lodine in 

? Draw Its structure & name it.

Watch Video Solution

IF7

181. List two uses each from neon & argon

gases.

Watch Video Solution

https://dl.doubtnut.com/l/_TClrMnrjrSWA
https://dl.doubtnut.com/l/_IrwrzLt3lhs5
https://dl.doubtnut.com/l/_HzfK9PS42Ox2


182. What happens when: Magnesium reacts

with  & than hydroly-sed.

Watch Video Solution

N2

183. What happens when: Ammonium chloride

reacts with slaked lime.

Watch Video Solution

https://dl.doubtnut.com/l/_HzfK9PS42Ox2
https://dl.doubtnut.com/l/_ii1A7B9UpPxb
https://dl.doubtnut.com/l/_2zallAfJQHGo


184. What happens when: Ferric chloride

reacts with 

Watch Video Solution

NH4OH

185. What happens when: Silver chloride reacts

with aq 

Watch Video Solution

NH3

https://dl.doubtnut.com/l/_zsEcGZqSL9Wr
https://dl.doubtnut.com/l/_ERTNk7Rde53k


186. What happens when: Zinc reacts with

conentrated 

Watch Video Solution

HNO3

187. What happens when: Iodine reacts with dil

Watch Video Solution

HNO3

https://dl.doubtnut.com/l/_RQeyuZRKR2I2
https://dl.doubtnut.com/l/_75AgjuH93vBD


188. What happens when white Phosphourous

is heated with NaOH solution in an inert

atmoshpere of ?

Watch Video Solution

CO2

189. What happens when: Mercuric chloride

reacts with 

Watch Video Solution

PH3

https://dl.doubtnut.com/l/_8xeRQYNYO53Q
https://dl.doubtnut.com/l/_G7CVmUgfClx3


190. What happens when:  is heated

strongly?

Watch Video Solution

PCI5

191. What happens when: Hydrogen peroxide

decomposed in presence of catalyst?

Watch Video Solution

https://dl.doubtnut.com/l/_YbV3nRLcuMqT
https://dl.doubtnut.com/l/_XZOwQQEmibZB


192. What will happen when: Alumina reacts

with aquous solution of sodium hydroxide?

Watch Video Solution

193. What happens when: Lead Sulphide reacts

with .

Watch Video Solution

O3

https://dl.doubtnut.com/l/_MCtVUnSRqBtD
https://dl.doubtnut.com/l/_fjJmCR8bdh5o


194. What happens when: Sucrose is treated

with concentrated .

Watch Video Solution

H2SO4

195. What happens when: Ammonia reacts

with excess  gas.

Watch Video Solution

CI2

https://dl.doubtnut.com/l/_W6QOBgFZMglp
https://dl.doubtnut.com/l/_TtCbUgwD8474


196. What happens when: Slacked lime reacts

with  gas.

Watch Video Solution

CI2

197. Sodium sulphite reacts with HCI.

Watch Video Solution

198. Write the chemical equations for the

following processes: Chlorine is passed

https://dl.doubtnut.com/l/_KcjVIxKDw8Er
https://dl.doubtnut.com/l/_kl0eE1l6f7Yo
https://dl.doubtnut.com/l/_mCFB3hy3qCmb


through hot and concentrated solution of

sodium hydroxide.

Watch Video Solution

199. Account for the following:  behaves

as an ionic compound is solid state.

Watch Video Solution

PCI5

200. Account for the following: Dioxygen is a

gas but sulpher is a solid.

https://dl.doubtnut.com/l/_mCFB3hy3qCmb
https://dl.doubtnut.com/l/_wruMxJ8zi3HO
https://dl.doubtnut.com/l/_2B6KeOPyUi0d


Watch Video Solution

201. Account for the following: Nobel gases

have large positive values of electron gain

enthalpy.

Watch Video Solution

202. Account for the following: Fluorine forms

the largest number of interhalogen

compounds amongst the halo-gens.

https://dl.doubtnut.com/l/_2B6KeOPyUi0d
https://dl.doubtnut.com/l/_ovCOr1U60yPX
https://dl.doubtnut.com/l/_GFhp3cLPILq6


Watch Video Solution

203. Account for the following: Chlorine water

loses its yellow colour on standing.

Watch Video Solution

204. Account for the following:  is more

stable than .

Watch Video Solution

BrCl3

BrCl5

https://dl.doubtnut.com/l/_GFhp3cLPILq6
https://dl.doubtnut.com/l/_6rsqbyuVGuGX
https://dl.doubtnut.com/l/_kLLCsRBUfsJt
https://dl.doubtnut.com/l/_I7QzSuzlhhmp


205. Account for the following: Fluorine does

not form oxoacids.

Watch Video Solution

206. Account for the following:  acts as

an oxidizing agent.

Watch Video Solution

PCl3

207. Explain the following: Electron gain

enthalpy for oxygen is less negative than that

https://dl.doubtnut.com/l/_I7QzSuzlhhmp
https://dl.doubtnut.com/l/_4l4YtWnlCwkJ
https://dl.doubtnut.com/l/_3JPakNqe6uOB


for sulphur.

Watch Video Solution

208. Answer the following: Bismuth is a strong

oxidizing agent in the pentavalent (O.N. = 5).

Give reason.

Watch Video Solution

209. Explain the following: The HNH bond

angle is higher than HPH, HAsH and HSbH

https://dl.doubtnut.com/l/_3JPakNqe6uOB
https://dl.doubtnut.com/l/_TrlKe7PSuk7S
https://dl.doubtnut.com/l/_VO4nSP8vK9n4


bond angles

Watch Video Solution

210. Explain why: Water shows unusual

beheaviour among the hydrides of groups 

elements.

Watch Video Solution

16th

211. How will you account for the following:

 is readily hydrolysed while  is not.NCl3 NF3

https://dl.doubtnut.com/l/_VO4nSP8vK9n4
https://dl.doubtnut.com/l/_5IYlRbEVP4fz
https://dl.doubtnut.com/l/_MMwRFxqu603g


Watch Video Solution

212. How will you account for the following:

Bleaching of flowers by chlorine is permanent

while that by sulphur dioxide is temporary?

Watch Video Solution

213. Explain why  dimerises.

Watch Video Solution

NO2

https://dl.doubtnut.com/l/_MMwRFxqu603g
https://dl.doubtnut.com/l/_AX3Nav2jy80O
https://dl.doubtnut.com/l/_8IFtkWjdaY88
https://dl.doubtnut.com/l/_mAS2v6CLgoj5


214. Explain:  is more stable than 

Watch Video Solution

BiCl3 BiCl5

215. In going down the group in nitrogen

family classify the elements into different

catagories.

Watch Video Solution

https://dl.doubtnut.com/l/_mAS2v6CLgoj5
https://dl.doubtnut.com/l/_ieLb2gBuSNK2


216. Arrange , ,  and

HClO in increasing orders of their Acidic

strength and oxidising power.

Watch Video Solution

HClO4 HClO3 HCIO2

217. Write the balanced chemical equation for

the reaction of  with hot and conc NaOH

solution. Justify that this reaction is a

disproportionation reaction.

Watch Video Solution

CI2

https://dl.doubtnut.com/l/_TxRWxlmiNmhd
https://dl.doubtnut.com/l/_mVZtUJ2xHrjL


218. Explain the following:  is kineticaly

inert.

Watch Video Solution

SF6

219. How will you account for the following:

 is an exothermic compound while 

is an endothermic compound.

Watch Video Solution

NF3 NCl3

https://dl.doubtnut.com/l/_mVZtUJ2xHrjL
https://dl.doubtnut.com/l/_YtdVumoLegyt
https://dl.doubtnut.com/l/_OT7cvf4mlnwB
https://dl.doubtnut.com/l/_vsZTuYCwJCvE


220. Explain the following: HCI is strogner aicd

than HF.

Watch Video Solution

221. Arrange the following groups of

substances in the order of the property

indicated against each group:

 - increasing order of

boiling points.

Watch Video Solution

NH3, PH3, AsH3, SbH3

https://dl.doubtnut.com/l/_vsZTuYCwJCvE
https://dl.doubtnut.com/l/_koBn0ZfaCpA3
https://dl.doubtnut.com/l/_NHKZiMEh0MXC


222. Arrange the following groups of

substances in the order of the property

indicated against each group: O,S,Se,Te-

increasing order of electron gain enthalpy.

Watch Video Solution

223. Arrange the following groups of

substances in the order of the property

indicated against each group:  -

increasing order of bond dissociation energy.

Watch Video Solution

F2, CI2Br2, I2

https://dl.doubtnut.com/l/_NHKZiMEh0MXC
https://dl.doubtnut.com/l/_1bFADA3iPhsB


https://dl.doubtnut.com/l/_1bFADA3iPhsB

